

Official Transcript - Academic Career

Name: Bridget Ingraham Student ID: 201280196

Print Date: Birthdate: Student Address: Institution Info:		06/26/2023 11/08/1981 1305 S G STREET #407 TACOMA, WA 98405 Bates Technical College 1101 S Yakima Ave Tacoma, WA 98405					Course HSCFA HSCHP HSCHP HSCOE	80 080 082 080	FALL 2018 (09/25/20 Description HS Comp Fine Arts High School Cmpl Health Hs Completion P.E. Hs Comp Occupation Educ	18 - 12/12/2018) <u>Attempted</u> 5.000 5.000 5.000 5.000	Earned 0.000 0.000 0.000 5.000	Grade 0.0 0.0 0.0 2.0	Points 0.000 0.000 0.000 10.000
Degree: Confer Date: Plan: Degree: Confer Date:		Degrees Av High School Diploma 03/18/2019 High School Diploma Associate in Applied Science-T 08/17/2021	varded				Term GPA		0.500 Term Totals	Attempted 20.000	<u>Earned</u> 5.000	<u>GPA Units</u> 20.000	<u>Points</u> 10.000
Plan:		Associate of Applied Science Tra Management	nsfer Degree - Ma	arketing/ Bu	siness		<u>Course</u> HSCHI	81	WINTER 2019 (01/02/2 <u>Description</u> HS Comp Wa State	019 - 03/18/2019) <u>Attempted</u> 2.000	<u>Earned</u> 2.000	Grade 4.0	Points 8.000
<u>Course</u> ABE	70	SPRING 2017 (03/27/2 <u>Description</u> IBEST Support	2017 - 06/06/2017 <u>Attempted</u> 16.000	7) <u>Earned</u> 0.000	Grade *	<u>Points</u> 0.000	HSCHI	82	History HS Compl Contemp History	2.000	2.000	3.7	7.400
			Attempted	Earned	GPA Units	<u>Points</u>	Term GPA		3.850 Term Totals	Attempted 4.000	Earned 4.000	GPA Units 4.000	<u>Points</u> 15.400
Term GPA		0.000 Term Totals	16.000	0.000	0.000	0.000			SPRING 2019 (04/01/2	019 - 06/07/2019)	ı		
Course ABE HSCEN	70 080	SUMMER 2017 (06/12/ <u>Description</u> IBEST Support High School Compl	2017 - 08/17/201 <u>Attempted</u> 13.000 1.000	7) <u>Earned</u> 0.000 0.000	Grade * 0.0	Points 0.000 0.000	<u>Course</u> ENGL MATH	90 86	<u>Description</u> Writing for College Pre-Algebra I	<u>Attempted</u> 5.000 5.000	5.000 5.000	<u>Grade</u> 2.0 2.7	Points 10.000 13.500
HSCHI	084 080 082	Engl I Hs Comp English V Hs Compl Us Hist/Gov Hs Compl Contemp	1.000 1.000 1.000	0.000 0.000 0.000	0.0 0.0 0.0	0.000 0.000 0.000	Term GPA		2.350 Term Totals	Attempted 10.000	<u>Earned</u> 10.000	GPA Units 10.000	<u>Points</u> 23.500
HSCOE	080	History Hs Comp Occupation Educ Hs Compl Prior Lrn	1.000	0.000	0.0 S	0.000	<u>Course</u> ENGL	91	SUMMER 2019 (06/20/2 Description Int. Reading/Writing	2019 - 08/19/2019 <u>Attempted</u> 5.000	Earned 5.000	Grade 2.0	<u>Points</u> 10.000
		Assmt	Attempted	Earned	GPA Units	<u>Points</u>	MATH	87	II Pre-Algebra II	5.000	5.000	3.0	15.000
Term GPA		0.000 Term Totals	19.000	1.000	5.000	0.000	Term GPA		2.500 Term Totals	Attempted 10.000	<u>Earned</u> 10.000	10.000	<u>Points</u> 25.000
							Course CMST& MATH PSYC&	210 92 100	FALL 2019 (09/25/20 <u>Description</u> Interpersonal Comm Elementary Algebra General Psychology	19 - 12/09/2019) Attempted 5.000 5.000 5.000	Earned 0.000 0.000 5.000	Grade 0.0 0.0 2.0	Points 0.000 0.000 10.000





Official Transcript - Academic Career

Name: Bridget Ingraham Student ID: 201280196

			<u>Attempted</u>	<u>Earned</u>	GPA Units	<u>Points</u>	<u>Course</u> MARK	101	FALL 2020 (09/28/20 <u>Description</u> Marketing Principles	020 - 12/11/2020) <u>Attempted</u> 5,000	Earned 5,000	<u>Grade</u> 3.2	<u>Points</u> 16.000
Term GPA		0.667 Term Totals	15.000	5.000	15.000	10.000	MARK MARK	102 103	Customer Service Written Business Comm	5.000 5.000 3.000	5.000 5.000 3.000	3.1 3.1	15.500 9.300
		WINTER 2020 (01/02	/2020 - 03/13/2020	0)			MARK	105	Info	1.000	1.000	2.7	2.700
Course		<u>Description</u>	<u>Attempted</u>	Earned	<u>Grade</u>	<u>Points</u>	MARK	204	Research/Acquistion Intro Present/Facilitat	3.000	3.000	3.3	9.900
ENGL&	101	English Composition	5.000	5.000	1.3	6.500	WAICIC	204	IIIIO I Tesentri aciiitat	3.000	3.000	5.5	3.300
MATH	172	Applied Business Math	5.000	5.000	2.3	11.500				Attempted	Earned	GPA Units	<u>Points</u>
SOC&	101	Intro To Sociology	5.000	5.000	2.7	13.500	Term GPA		3.141 Term Totals	17.000	17.000	17.000	53.400
			Attempted	Earned	GPA Units	Points			WINTER 2021 (01/04/2	2021 - 03/16/2021)		
T 004		0.400 T T. I	45.000	45.000	45.000	04.500	Course		Description	<u>Attempted</u>	Earned	<u>Grade</u>	Points
Term GPA		2.100 Term Totals	15.000	15.000	15.000	31.500	ACCT&	203	Princp.Of Accounting	5.000	5.000	2.7	13.500
		SPRING 2020 (03/30/		,			MARK	106	Business Concepts	5.000	5.000	3.5	17.500
Course		<u>Description</u>	<u>Attempted</u>	<u>Earned</u>	<u>Grade</u>	<u>Points</u>	MARK	209	Entrepreneurial Concepts	5.000	5.000	2.7	13.500
ACCT& MARK	201 107	Principles Of Acct I Cross Cultural	5.000 5.000	5.000 5.000	2.0 3.3	10.000 16.500			Concepts				
IVIARK	107	Coss Cultural	5.000	5.000	3.3	16.500							
MARK	110	Prncpl	5.000	5.000	2.7	13.500				<u>Attempted</u>	<u>Earned</u>	GPA Units	<u>Points</u>
		Mgmt/Supervision					Term GPA		2.967 Term Totals	15.000	15.000	15.000	44.500
			Attempted	Earned	GPA Units	<u>Points</u>			SPRING 2021 (03/29/2	2021 - 06/08/2021)		
Term GPA		2.667 Term Totals	15.000	15.000	15.000	40.000	<u>Course</u>		<u>Description</u>	<u>Attempted</u>	Earned	<u>Grade</u>	Points
Tellii GPA		2.007 Term Totals	15.000	15.000	15.000	40.000	MARK	104	Negotiation/Collabor	3.000	3.000	3.2	9.600
		SUMMER 2020 (06/18	3/2020 - 08/17/202	0)			MARK	111	atio Cyber Mrkt/E-	5.000	5.000	3.7	18.500
Course		Description	<u>Attempted</u>	Earned	<u>Grade</u>	<u>Points</u>			Commerce				
MARK	109	Economics-Mrkt	5.000	5.000	2.6	13.000	MARK MARK	112 201	Business Law Intr Leadership	5.000 3.000	5.000 3.000	3.4 3.7	17.000 11.100
MARK	206	Perspectv Teaming For	3.000	3.000	3.8	11.400	WAIN	201	Skl/Ethc	3.000	3.000	3.7	11.100
MARK	210	Success Intro Project Mgmt	4.000	4.000	3.8	15.200				Attempted	Earned	GPA Units	<u>Points</u>
							T 004		0.540 T T. I				
			<u>Attempted</u>	Earned	GPA Units	<u>Points</u>	Term GPA		3.512 Term Totals	16.000	16.000	16.000	56.200
Term GPA		3.300 Term Totals	12.000	12.000	12.000	39.600							





Official Transcript - Academic Career

Name: Bridget Ingraham Student ID: 201280196

SUMMER 2021 (06/15/2021 - 08/17/2021) **Points** Course Description <u>Attempted</u> Earned <u>Grade</u> MARK 108 Intrntl Trade Practice 5.000 5.000 1.7 8.500 MARK 202 Into Strategic 4.000 4.000 9.600 2.4 Marketing Advance Business MARK 205 5.000 5.000 2.4 12.000 Project MARK 207 Intro Managing 3.000 3.000 3.4 10.200 Change MARK 208 Achiev 3.000 3.000 3.4 10.200 Results/Influence <u>Attempted</u> **GPA Units Points Earned** Term GPA 2.525 Term Totals 20.000 20.000 20.000 50.500 **Undergraduate Totals** Cum GPA 2.300 Cum Totals 204.000 145.000 174.000 399.600 TRANSFER FROM OTHER HIGH SCHOOLS 22.5CR

End of Official Transcript - Academic Career





CALENDAR

Bates Technical College operates on a guarter system.

ACCREDITATION

Bates Technical College is accredited by the Northwest Commission on Colleges and Universities.

COURSE NUMBERING SYSTEM

000-099 Pre-college level.

101-199 College-level, normally encountered first year.

200-299 College-level, normally encountered second year.

RELEASE OF INFORMATION

The Family Educational Rights and Privacy Act of 1974 (The Buckley Amendment) prohibits the release of this record or disclosures of its contents to any third party without written consent of the student.

TRANSCRIPT NOTATIONS

AAS – Associate in Applied Science

AAS-T - Associate in Applied Science - Transferable

ATD – Associate of Technology Degree

Cert of Comp or CoC - Certificate of Competency

Cert of Train or CoT- Certificate of Training

Credit by Exam – Students who successfully challenge specific coursework may receive credit.

Transfer Credit – In order to receive credit, an official transcript must be requested by the student directly from the institution attended. A description of the transferable courses will be reflected on the Bates transcript. Specific grades for courses transferred from another institution are not recorded.

Official Transcript – An official transcript bears the impression of the Bates Technical College seal, the date, Registrar's signature, and is mailed in a sealed envelope stamped "Official Transcript Bates Technical College. Transcripts that do not meet these requirements are <u>not</u> considered official.

GRADING SYSTEM

Numerical Grades

4.0

3.9-3.7

3.6-3.3

3.2-3.0

In May 2010, Bates Technical College converted curriculum from contact hours to credit hours. Grades are awarded with a numerical system ranging from 0.0 to 4.0.

The following scale shows the letter equivalency:

Α

A-

B+

R

Letter

2.9-2.7	B-	
2.6-2.3	C+	
2.2-2.0	С	
1.9-1.7	C-	
1.6-1.3	D+	
1.2-1.0	D	
Below 1.0	F	
	S	Satisfactory completion of a pass/fail Course (not factored in GPA)
	U	Unsatisfactory completion of a pass/fail course(not factored in GPA)
	W	Withdrawal - not counted in GPA
	IC	Incomplete

September 1993 to May 2010 Bates Technical College used a competency-based curriculum. Students earned *professional-technical ratings* according to their mastery of skills and tasks at predetermined industry performance standards. These ratings show on the transcript under the "Grade" column, according to the following rating scale:

Continuing education courses are rated "S", Satisfactory or "NC", No Credit. "S" is not included in grade point average (GPA) calculation.

Professional-Technical Ratings:

Rating of 4: Performs above industry entry-level requirements / standards. Highly competent.

Rating of 3: Performs at industry entry-level requirements / standards. Competent.

Rating of 2: Progressing toward industry entry-level requirements / standards. Needs additional training and supervision.

Rating of 1: Exposed to training, but not progressing.

Rating of 0: No instruction offered or not evaluated.

(Ratings are with the equivalent Grade Point Value)

"W" means withdrawn from program.

T" followed by any rating indicates In-progress- no credit awarded.

P" followed by a rating of 3 or 4 indicates credit awarded from prior learning or experience.

"IC" means incomplete and is only used for academic classes

"S" means satisfactory

"U" means unsatisfactory

Academic courses used the traditional letter grade system: Letter grade Grade Point Value (GPTS)

A	4.0
A-	3.7
B+	3.3
В	3.0
B-	2.7
C+	2.3
С	2.0

CALCULATING THE GRADE POINT AVERAGE

Competencies and grades completed prior to May 2010 are transcribed based on the following information:

The grade point value of the academic course letter grade and the rating of the professional-technical course is multiplied by the clock hours in each course (not shown on transcript) to determine the grade points.

For example:

	Grade/Rating	value	Х	Clock Hours	=	Grade Points
Human Relations	B-	2.7		55		148.5
Safety Standards	4	4.0		66		264
Wildland Firefighter	3	3.0		<u>41</u>		<u>123</u>
_				162		535.5

In the example above, total Grade Points of 535.5 divided by the total of 162 Clock Hours equals the Grade Point Average (GPA) of 3.3. On the transcript, total grade points (GPTS) are divided by the total clock hours (GPA HR) to arrive at the grade point average (GPA).

Credit hours (noted on the Transcript under the heading of "CREDIT HRS") equates to 1:16.5 clock hours as determined by the Washington State Board for Community and Technical Colleges. These hours are totaled and combined in one number under the heading GPA HR.

These are not combined with the cumulative GPA of grades earned starting May 2010.

L/R September 2020